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He should offer her a dowry for himself; with his consent

Overview

The &3 asked that we should derive inon from 01Rn1 (also) in regard that the rinon
must marry her, just like the 018" must marry her. The X773 answers that by 7non the
770 writes! 7wRS 12 13770 7, we understand the word 1% to mean 1Ny with his
consent. MdOIN discusses this topic.

mooIn asks:
= INY 1T 9190 WIFTI ZAUNRD NN 19 9NN ON)

And if you will say, we should also expound the verse 7@K 7°7n 121 (and she
should be to him for a wife), which is written by a 0ix» that 12 means with his
consent —

Moo responds to an anticipated difficulty:
= SIINW)I 9359 NN 199N 3NNDHYY YO RY 29N5T XM

And this which is written mr>w® %210 8% (he cannot send her away), that is
referring to case where he already married her (\nvm) -

N1D0IN answers:
- 5ANYYY 9915 XY ANYI DNY 1153 NPT H510Y NIAD PNRT 119 U

And one can say that it is not logical to say on one hand that the marriage must be
YR, since on the other hand you are saying that if he married her he cannot
divorce her —

nooIn offers an alternate solution:
:[N92IN INRP 6139719% 911 AN NNYT 13933 991D NYNN INP 71N 1) M)

10,25 (@wown) nmw.

212,25 (R¥N) o727 reads, 72 92 ANPY 297 XY AV WK DO RY A0 9 002 DOV 7T OIR? ARy 20W0 UORT 101

3 This (seemingly) indicates that it is not ¥y, for he must remain married to her, even without his consent.

4 moon is suggesting that we divide the p109; when it state 7wX? 7°7n 121 the word 191 teaches that he must consent to

marry her, and when the 770 writes AW 912° X7, that means in a case where he married her \ny7n, he can no longer

divorce her.

5 It makes no sense to say that the marriage is only with his consent, but once he marries he has no choice! See

“Thinking it over’.

¢ The subject of the AwX? 70 121 2108 (by O1X) is the woman, that she should be his wife, so even though it states 191,

nevertheless since we are not discussing the man, but rather the woman, we interpret the P105 of 77°70 191 to mean with
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[And additionally, the word °nn (177) in the P10 of MWK 73970 1 (and she shall
be for him as a wife) is referring to the woman, therefore we require that the
marriage be with her consent, however the words TwX? 17 12972° 972, is referring
to the man.]

Summary
It is inconsistent to say that the 01X» can refuse the marriage, but once married cannot

dissolve it.

Thinking it over
Why does mooin state that it is illogical that the marriage is with his consent, but

afterwards he cannot break up the marriage, when we find this situation in every
marriage concerning the woman; her consent is required to marry her, but once she
is married, she cannot dissolve the marriage, so why does m»oin state that is it
inconsistent by the man, if it consistent by the woman?!

her consent. However in the ?105 of 1177%° 971 (by 1non) the subject is the man, therefore since it states 12 13772 277,
we interpret it to mean only 1nyTH.
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